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Q.1 Select the option that gives the most appropriate synonym of the underlined word.
Everybody warned him of the perils of the journey.

Ans 4 1. hazards
< 2. certainties
< 3. security
/< 4. steepness

Question ID : 1034353812
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option to fill in the blank.
The minimum qualification this job is High School pass.

Ans X 1.to
o 2. for
5 3.n
X 4. with

Question ID : 1034353804
Status : Answered
Chosen Option : 2




Q.3 Select the most appropriate option that can be used as a one-word substitute for the

underlined group of words.
When | went to Cambodia, | bought a fridge magnet as a thing_ to be kept in the

memory of my visit.
Ans X 1. menagerie

«" 2. souvenir
< 3. certificate
< 4. medal

Question ID : 1034353818
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate option to fill in the blank.
When | earn sufficient money, | a bicycle for myself.

Ans o 1. will buy

< 2. have bought
< 3. buy

< 4. am buying

Question ID : 1034353805
Status : Answered
Chosen Option : 1

Q.5 Select the option that gives the most appropriate synonym of the underlined word.
Grandma was cross and upset when grandpa lost his money.

Ans 4 1. annoyed

X 2. tired
< 3. pleasant
25 4. nervous

Question ID : 1034353811
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.
They have old stone table in their garden.

Ans X 1.a
X 2. the

" 3.an
25 4. no word

Question ID : 1034353807
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate ANTONYM of the given word.
Hostile

Ans o 1. Friendly
25 2. Nasty
25 3. Hateful
< 4. Bitter

Question ID : 1034353810
Status : Answered
Chosen Option : 1




Q.8 Select the most appropriate meaning of the given idiom.
To take to task

Ans 4 1.7To punish

< 2. To make efforts
< 3. To gain something
25 4. To have insight

Question ID : 1034353813
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate option to fill in the blank.
school of my grand-daughter is located in the factory compound.

Ans X 1.An

o 2. The

X 3.A

25 4. No word

Question ID : 1034353808
Status : Answered
Chosen Option : 2

Q.10 The following sentence has been divided into parts. One of them may contain an error
in spelling. Select the part that contains the error from the given options. If you don’t

find any error, mark ‘No error’ as your answer.
Visiting a tea plantaition/ is an integral part of / any itinerary to Darjeeling.

Ans X 1.No error
< 2. any itinerary to Darjeeling
" 3. Visiting a tea plantaition

< 4.is an integral part of

Question ID : 1034353816
Status : Answered
Chosen Option : 3

Q.11 Select the most appropriate ANTONYM of the given word.
Certain

Ans 4 1. Doubtful
< 2. Definite
< 3. True
25 4. Sure

Question ID : 1034353809
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate option to fill in the blank.
She gave a beautiful dance performance she had practiced for it for a week.

Ans X 1.s0
25 2. unless
25 3. although

4. as

Question ID : 1034353806
Status : Answered
Chosen Option : 4




Q.13 Select the most appropriate option that can be used as a one-word substitute for the
underlined group of words.
We saw a group of sheep grazing on the hillside.

Ans X 1.school
X 2.gang
< 3. pack
o 4. flock

Question ID : 1034353817
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’
.Though she didn’t like the job, she accepted it as apples can’t be oranges.

Ans X 1.beggars can’t be rich
< 2. children can’t be adults
«" 3. beggars can’t be choosers

25 4. No substitution required

Question ID : 1034353814
Status : Answered
Chosen Option : 3

Q.15 The following sentence has been divided into parts. One of them may contain an error
in spelling. Select the part that contains the error from the given options. If you don’t
find any error, mark ‘No error’ as your answer.

Durrell gives a very picturesque account / of his animals’ activities / in his storys and
novels.

Ans X 1. of his animals’ activities
4" 2. in his storys and novels
25 3. Durrell gives a very picturesque account

25 4. No error

Question ID : 1034353815
Status : Answered
Chosen Option : 2




Q.16

Ans

Comprehension:
Read the given passage and answer the questions that follow.

For millions of people in India, river Ganga is the most sacred river. It is considered as mother
and goddess. It is also a lifeline to millions of Indians who live along its course and depend on
it for their daily needs. River Ganga is the third-largest river in the world by the amount of
water that flows through it. It is the longest river in India. The water of Ganga is used for
drinking,irrigation, transportation and fishing.

The Gangetic plain formed by river Ganga is one of the most fertile lands on the earth. This is
why almost 10% of the world population lives here and earns its livelihood. The Ganga, in
India, is the most worshipped body of water. The irony here is that in spite of being the most
worshipped river, it is also the dirtiest one. It carries some metals thrown out by tanneries,
waste produced by industries and urban waste from different cities. All this has made river
Ganga the fifth most polluted river in the world. Another major reason that adds to pollution of
river Ganga is the coal-based power plants on its banks, which burn tons of coal every year
and produce tons of fly ash. This ash mixed with domestic wastewater is released in the river.
This bad situation calls for an urgent need to make efforts to reduce pollution and revive river
Ganga. To achieve these objectives, the Government of India has started a programme
named ‘NamamiGangeProgramme’. The main pillars of this programme are sewage
treatment, river surface cleaning, afforestation, riverfront development and public awareness.
The importance of the success of ‘NamamiGangeProgramme’ can be seen through the
following lines:

“If Ganga dies, India dies. If Ganga thrives, India thrives. No Ganga, No India.”

SubQuestion No : 16

Ganga is ‘the lifeline of millions of Indians who live along its course’. Which of the
following statements does NOT support this?

< 1. The Gangetic plain is one of the most fertile plains in the world.
< 2. The water of Ganga is used for drinking, irrigation, transportation and fishing.
" 3. People throw all kinds of waste material in river Ganga.

< 4. People depend on Ganga for their daily needs.

Question ID : 1034353822
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and answer the questions that follow.

For millions of people in India, river Ganga is the most sacred river. It is considered as mother
and goddess. It is also a lifeline to millions of Indians who live along its course and depend on
it for their daily needs. River Ganga is the third-largest river in the world by the amount of
water that flows through it. It is the longest river in India. The water of Ganga is used for
drinking,irrigation, transportation and fishing.

The Gangetic plain formed by river Ganga is one of the most fertile lands on the earth. This is
why almost 10% of the world population lives here and earns its livelihood. The Ganga, in
India, is the most worshipped body of water. The irony here is that in spite of being the most
worshipped river, it is also the dirtiest one. It carries some metals thrown out by tanneries,
waste produced by industries and urban waste from different cities. All this has made river
Ganga the fifth most polluted river in the world. Another major reason that adds to pollution of
river Ganga is the coal-based power plants on its banks, which burn tons of coal every year
and produce tons of fly ash. This ash mixed with domestic wastewater is released in the river.
This bad situation calls for an urgent need to make efforts to reduce pollution and revive river
Ganga. To achieve these objectives, the Government of India has started a programme
named ‘NamamiGangeProgramme’. The main pillars of this programme are sewage
treatment, river surface cleaning, afforestation, riverfront development and public awareness.
The importance of the success of ‘NamamiGangeProgramme’ can be seen through the
following lines:

“If Ganga dies, India dies. If Ganga thrives, India thrives. No Ganga, No India.”

SubQuestion No : 17

Q.17 The main theme of the second paragraph is:

Ans

¥ 1. the pollution of the Ganga river
< 2. the measures to clean the Ganga river
< 3. the sacredness of the Ganga river

25 4. the plain formed by the Ganga river

Question ID : 1034353821
Status : Answered
Chosen Option : 1




Comprehension:
Read the given passage and answer the questions that follow.

For millions of people in India, river Ganga is the most sacred river. It is considered as mother
and goddess. It is also a lifeline to millions of Indians who live along its course and depend on
it for their daily needs. River Ganga is the third-largest river in the world by the amount of
water that flows through it. It is the longest river in India. The water of Ganga is used for
drinking,irrigation, transportation and fishing.

The Gangetic plain formed by river Ganga is one of the most fertile lands on the earth. This is
why almost 10% of the world population lives here and earns its livelihood. The Ganga, in
India, is the most worshipped body of water. The irony here is that in spite of being the most
worshipped river, it is also the dirtiest one. It carries some metals thrown out by tanneries,
waste produced by industries and urban waste from different cities. All this has made river
Ganga the fifth most polluted river in the world. Another major reason that adds to pollution of
river Ganga is the coal-based power plants on its banks, which burn tons of coal every year
and produce tons of fly ash. This ash mixed with domestic wastewater is released in the river.
This bad situation calls for an urgent need to make efforts to reduce pollution and revive river
Ganga. To achieve these objectives, the Government of India has started a programme
named ‘NamamiGangeProgramme’. The main pillars of this programme are sewage
treatment, river surface cleaning, afforestation, riverfront development and public awareness.
The importance of the success of ‘NamamiGangeProgramme’ can be seen through the
following lines:

“If Ganga dies, India dies. If Ganga thrives, India thrives. No Ganga, No India.”

SubQuestion No : 18
Q.18 World’s 10% population lives near river Ganga mainly because:
Ans X 1.itis the third-largest river in the world

< 2. itis the longest river in India
«# 3. the plain formed by it is very fertile

5 4. its waters are considered sacred

Question ID : 1034353820
Status : Answered
Chosen Option : 3

Comprehension:
Read the given passage and answer the questions that follow.

For millions of people in India, river Ganga is the most sacred river. It is considered as mother
and goddess. It is also a lifeline to millions of Indians who live along its course and depend on
it for their daily needs. River Ganga is the third-largest river in the world by the amount of
water that flows through it. It is the longest river in India. The water of Ganga is used for
drinking,irrigation, transportation and fishing.

The Gangetic plain formed by river Ganga is one of the most fertile lands on the earth. This is
why almost 10% of the world population lives here and earns its livelihood. The Ganga, in
India, is the most worshipped body of water. The irony here is that in spite of being the most
worshipped river, it is also the dirtiest one. It carries some metals thrown out by tanneries,
waste produced by industries and urban waste from different cities. All this has made river
Ganga the fifth most polluted river in the world. Another major reason that adds to pollution of
river Ganga is the coal-based power plants on its banks, which burn tons of coal every year
and produce tons of fly ash. This ash mixed with domestic wastewater is released in the river.
This bad situation calls for an urgent need to make efforts to reduce pollution and revive river
Ganga. To achieve these objectives, the Government of India has started a programme
named ‘NamamiGangeProgramme’. The main pillars of this programme are sewage
treatment, river surface cleaning, afforestation, riverfront development and public awareness.
The importance of the success of ‘NamamiGangeProgramme’ can be seen through the
following lines:

“If Ganga dies, India dies. If Ganga thrives, India thrives. No Ganga, No India.”

SubQuestion No : 19
Q.19 Which of the following is NOT the purpose of ‘Namami Gange Programme’?
Ans X 1.to develop the riverfront

25 2. to revive the Ganga river
4" 3. to treat the industrial waste

25 4. to reduce the pollution of the Gangariver

Question ID : 1034353824
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

For millions of people in India, river Ganga is the most sacred river. It is considered as mother
and goddess. It is also a lifeline to millions of Indians who live along its course and depend on
it for their daily needs. River Ganga is the third-largest river in the world by the amount of
water that flows through it. It is the longest river in India. The water of Ganga is used for
drinking,irrigation, transportation and fishing.

The Gangetic plain formed by river Ganga is one of the most fertile lands on the earth. This is
why almost 10% of the world population lives here and earns its livelihood. The Ganga, in
India, is the most worshipped body of water. The irony here is that in spite of being the most
worshipped river, it is also the dirtiest one. It carries some metals thrown out by tanneries,
waste produced by industries and urban waste from different cities. All this has made river
Ganga the fifth most polluted river in the world. Another major reason that adds to pollution of
river Ganga is the coal-based power plants on its banks, which burn tons of coal every year
and produce tons of fly ash. This ash mixed with domestic wastewater is released in the river.
This bad situation calls for an urgent need to make efforts to reduce pollution and revive river
Ganga. To achieve these objectives, the Government of India has started a programme
named ‘NamamiGangeProgramme’. The main pillars of this programme are sewage
treatment, river surface cleaning, afforestation, riverfront development and public awareness.
The importance of the success of ‘NamamiGangeProgramme’ can be seen through the
following lines:

“If Ganga dies, India dies. If Ganga thrives, India thrives. No Ganga, No India.”

SubQuestion No : 20
Q.20 What do the power plants throw in river Ganga?
Ans X 1. metals

< 2. urban waste
25 3. coal
" 4. fly ash

Question ID : 1034353823
Status : Answered
Chosen Option : 4

Q.21 TA-AIST d2 THTA THaR ag BIY1” Ufeed A 3PN 2-
Ans X 1. oa

o 2.7

X 3. gHB

X 4Bl

Question ID : 1034353836
Status : Answered
Chosen Option : 2

Q.22 g T G d&l 38 T —aArPpifad Bt aniT Farrelf deia 8-
Ans X' 1. U% 4y 3 FIe

< 2. 379 P BIY X AT

o 3. 31T H BT IS

X 4. TR BT T eI SRTeR

Question ID : 1034353837
Status : Answered
Chosen Option : 3




Q.23 @ Hr 3k A ¥ A 78 -
Ans X 1.4qr01

X 2. drT

X 3.uah

W 4.3

Question ID : 1034353839
Status : Answered
Chosen Option : 4

Q.24 ¥ & T W B’ — TH Ferad &1 T 352 82
Ans  # 1. 3EBR BT

X 2. 93 BT TR W B BT

X 3. ad@raA

X 4. P Hded T IEAT

Question ID : 1034353831
Status : Answered
Chosen Option : 1

Q.25 Tifere’ 2 F dgd B P Uga™ biford-
Ans r. g 1. Gerip

2.0

X 3. wifors

< 4. Hel

Question ID : 1034353832
Status : Answered
Chosen Option : 2

Q.26 fAmfafEd 2rg & fAT arewier o1 @ aq Hifeg-
g

Ans X 1. ST A AR
X 2. e amgae
& 3. ST H9T 7 ST 9
X 4 i idEaAae

Question ID : 1034353825
Status : Answered
Chosen Option : 3

Q.27 fimfafeEa ¥ J ¢ wdtet & fasimmeds o1 aa7 Hifcd-
Ans X 1. yfq

o 2. 9T

< 3. ufaant

X 4. U

Question ID : 1034353834
Status : Answered
Chosen Option : 3




Q.28 agd - A & IRGAfeId I BT 74 Hiforg-

Ans

251 9TT — g
X 2.8 -y
X 3.1 Hog
o 4. 3T R

Question ID : 1034353838
Status : Answered
Chosen Option : 4

Q.29 fafafEa ¥ & g 2reg ¥ 3msT Uead & AT A BifeT 2reg gam-

Ans

o 1.97g
X 2.
7< 3. gt
X 4. qut

Question ID : 1034353827
Status : Answered
Chosen Option : 3

Q.30 fimfafEd ¥ A frw 2re & 3id ¥ 30 B § B A Y agaed a1 82

Ans

X1, Ured
K 2w

o 3. 981
X 4w

Question ID : 1034353828
Status : Answered
Chosen Option : 3

Q.31

Ans

frafefaaufaral ¥ $i9 91 3rdeR 82
AT ool T4 o e v |
WHg YRR fawe siet 38 g a ||’

X 1. IHD TABR

X 2. e[RTdBR

& 3. WATEBR

X 4. AfddR

Question ID : 1034353826
Status : Not Answered
Chosen Option : --

Q.32 fAefafEd ¥ & SF-91 fdbeq 3T &1 uh 3ref 78 272

Ans

x 1. ey
< 2. 3TeBTel
X 3. 9gd 1fow
o 4. fauf”

Question ID : 1034353833
Status : Answered
Chosen Option : 4




Q.33 fimfafea ¥ A fiow faurg o1 Al 2 « Teqey THRY BT ITE01 32 UgdH Hiford-

Ans

X 1. 2IfeRT & 3gER- gererf

X 2.9 & Afear fore — =l
X 3. faer € 8 - faare

o 4.8 & oy @ - e

Question ID : 1034353830
Status : Answered
Chosen Option : 4

Q.34

Ans

g1l i foredt gwres ar witar -3 oy o ore 8-
X 1. 3mfeq
o 2. Tiglafd
72X 3. 3mpIfera
X 4. gufafq

Question ID : 1034353835
Status : Answered
Chosen Option : 2

Q.35

Ans

‘HFEROT 2Aeg W P W Al 32
X e at

o 2. T i

X 3. fawf af=r

X 4. 3rfe At

Question ID : 1034353829
Status : Answered
Chosen Option : 3

Q.36

Ans

Comprehension:

frafafed meier @1 ufew 3R = gAY & 3R dfol

ST b BT TRFRT 6 IS B e ST &| ‘Tl S!S TIAT HIA STl 2] TE T 3TEt HTsT
H T HETRIA & fSraeh! et headh & S9! §Bd 30 YR’ 2| e s Y 7 9 el Bl
HfeRTeTel BT IE-aTG g X BRI 8| 37 ITAR TaIad bl BIAHRT hl HaH Tile 3R TRE T 3
P Aiferes AIgHE SRR TR F a1 fdRad T8l 3| O @i daf WRalds Q! Pl AT ared | 3=
TaTId’ < TRIRAT B AT TRERT & 3Tgeet R2ATE <hY TAT B 8, S g Y &RTeh fowet) oBY T TR
JoT 21| a8 Igd IR ITgT &1 3TH YW Bl HTaT 9§d TGl 81 & BRUT 351 UH BT $2a- BT UR 7|
3B Afdees WH-TR3N & BUD gRT IR UH Y ATEAT Y &| TaITad B UF et Si gedRieT I/ 7
IR T & 3f3a Tior I & 71 2, a8 STt Py vanad W gEad: U et 8| anad H et Wt § 3R
BUF P GRT 3 fcbep dedl I ST Hi 2] T8 T HeTIY Ve ‘BUDb’ HeTebred H HIAT STl 8] STt
R Wl & qoiaar aRfd 3] & agd -0 & 1Y 37 P1ed # WRA 3iaR-wam3it 3R uifie
RERT3T BT Ieeie g31T 8] 37H T BT 31U f=Afd 31feies & 3R 3RRT A ey 37 dep 37T et 3R
HTT o UedT 8| “Uaiad” U bl TR Bl &1 R dTelT TeHTeds Bied & | ST 4 53 WHdbelT Bl
g & G NI HATHT F d-a1 I AT

SubQuestion No : 36

STt fob uRT % Bfa A2

X 1. T BT TRORT

o 2. ! B WART
< 3. |IOT vferd PreERT

< 4. Hd Preg WERRT

Question ID : 1034353841
Status : Answered
Chosen Option : 2




Comprehension:

frafafed meier &t ufee 3R 1 oAt & 3% dfol

ST YhT BT TRFRT 6 IS B &g ST & ‘TN’ §7eh! S TaAT | STTT 8] g T 31et HTeT
H I HEThIed & ST el Bsde 8| SHPBT & I YR’ 3| 37K s Y  SH HeldbTed Bl
HfeRTeTel BT I&-aTRT g X YBRI 8| 37 ITAR TaITad bl BIAHRT Bl HaH Tiig 3R FRE T 3
i Hifeie AIgHE ST TR ¥ g favar 781 3| I @lds qeT el aFl & ATdAT argd A 38
TETIA < TRRAT B AT TRERT & 31geet R2ATE <hY TAT B &, S I Y TR foeet) oBY T TR
JoT 21| a8 95 IR ITgT &1 3TH YW I HTaHT 9§d T 8 & BRUT 351 UH BT $2&- BT UR 7|
321 Alfches WH-TTTe3tt & BUD gRT YHTTIT W Y TTLHT bl 8| UaTadt bl U AT Sl gediRieT I-T H
IR T & 3f3a Tior I & 71 2, a8 STt PY vanad H g'ad: Ui et 8| anad H et Wt § 3R
FUP’ B GRT 3Tclcbep el T o1 Wl 2| I8 T HEWY T BUSP’ HETPIe HY HHT STl 8] STt
R T¥pfa I gofaar aRRfad 3 &iTs agd -9 F A1l 376 FTed § HRAR sar-aen3it 31k urfies
RERT3T BT 3eeie g31T 8] 37H T BT 31U 3f=Afd 3tfeies & 3R 3IRRT A ey 37 dep 37T et 3R
HTST & TraT 8] ‘UelTdd’ UH &Y YR Bl ZSTAT IR aTelT YGUTHD BT & | ST 7 9 IHdsT B
g & G NI HATHT F T-a I AT
SubQuestion No : 37
Q.37 yemrad &1 ure 3R Aett Bl Wt §2
Ans X" 1. HHAIT MTST 3R gl et
o 2. M1 37aET 3R el Fead
2 3. ST HTOT 3R bl Qe

< 4. 3Tt WTST AT Srat

Question ID : 1034353843
Status : Answered
Chosen Option : 2

Comprehension:

frefafed maier @1 ufew 3R =1 gAY & 3av dfSwl

ST b BT TRFRT 6 IS B &g ST 8| ‘T’ ST IS IIAT HIA ST 2] T§ T4 31et HreT
H I HEThIed & ST et Bsdd o] SHPBT Hd I ‘YR’ 3| 3TRRS s I o 5H HelhbTed BI
HieRTeTel BT IS-aTI g X YBRI 8| 37 ITAR TaITId bl BIAHRT B HaH Tile 3R TG T 3
BT ATfcres AgHE SRR TR A a1 favad T8l 3| O @ids d2f WRalds a1 Bl AreFAT ared | 38
YT &b TRA H T TRART & et IR2ATE Y WAT Y 8, St gAY B &1y foet) bl TEF R
JoT 21| a8 Igd IR ITGT 211 3TH YA BT MTaAT 9§d T 81 & BRUT 381 UH BT §2a7 BT UR 7|
3B Afdees YH-TTTe3N b BUS gRT GHITEIT UH Y ATEAT BT & TaITad Bl UF et S gedRTeT I/ |
IR T8 & 313 o1 § ot 7€ €, I8 St Y vEnad ¥ geda: U el 8] Edd ¥ et it 8 3R
BUR F GRT Acldeh dcdl T FoHT HI §| TE IXT HETHY Teb ‘BUD’ HEThIed W HIAT SITdT 8| STt
R Wl & quiaar aRfad ) & agd a=-U & 1 37 H1ed H WRAH cR-waT31l 3R uifife
TRARTAT BT 3eeie §3TT 8| 3TH T BT 37T A 3778 € 31R 3TRAT I wiape 37d a 39T et 3R
HTST o UehdT 8| “UaITad’ U bl TR Bl &1 i dTelT FeHTeidh bied & | ST 4 5 WHebelT Bl
Tga & graI 3 BaT3i & a-a F g 8
SubQuestion No : 38

Q.38 3 werier % waifisd 3fea 2fie &1 T Hifsr-

Ans X 1. 50 AR

o 2. TETHRd ST 3R Yarmad
X 3. T YeHTHS Bl

< 4. vETad

Question ID : 1034353844
Status : Answered
Chosen Option : 2




Q.39

Ans

Comprehension:

frafcfaa meier o) ufew 37k A weal & 3w ifSivl

ST YhT BT TRFRT 6 IS B &g ST & ‘TN’ ST S TIAT A STl 2] TE T 3TEt HTeT
H I HEThIed & ST el Bsde o] SHBT B I YR’ 3| 3TRIRT s o o SH HelbTed Bl
HfeRTeTel BT I&-aTHRI g X YBRI 8| 37 ITAR TaITad bl BIAHRT H HaH Tiig 3R FRE T 3
P Hifcies AR SR TR F a1 favad T8l 3| O @i d2i WRalds Q! Pl QAT ared | 3=
TETIA < TRRAT & AT TRRT & 31geet R2ATE <hY TAT B &, S g Y &RTeh fowet) oBY T TR
JoT 21| a8 Igd IR ITgT &1 3TH YW Bl HTaT 9§d TG 8 & BRUT 351 UH BT $2&- BT UR 7|
31 Alfdbes WH-TTTe3tt & BUD gRT YHTTIT W Y JTLHT bl 8| UaITadt bl U AT Sl gediRieT I-T H
IR T & 3f3a Tior I & 1 2, a8 STt PY vanad H gEad: Ui gt 8| anad H et Wt § 3R
FUP’ B GRT 3 lcbep el T @it W 3| I8 T HEWY T HUS’ HETPIe HY HHT STl 8| STt
R T¥pfa I gofaar aRRfad J &iis agd -9 & A1l 370 FTed B HRAR sar-aean3it 31k urfies
RERT3T BT eeie g31T 8] 37H T BT 310 3f=fd 31feies & 3R 3RRT A ey 37 de 37T et 3R
HTST & TraT 8] ‘UelTdd’ UH &Y YR Bl ZSTAT IR aTelT YGUTHS BT & | ST 7 9 JIHdsT B
g & G NI AT F a-a I A |
SubQuestion No : 39
AP Y ) Bl § b IreRi YR A 3aq fovem € &2

X 1. TS 32 YT BTIURT B 379w

o 2. b 3BT TaITaa’P TRAT H HIFdT IRAORT & 37JPe R2ATE Bl TRIHT Bl 8

X 3. TN 32 ‘TRIad ST U Hred forar &

X 4. ifds 3R yaTad Bl 9T BUB W Bl F

Question ID : 1034353845

Status : Answered

Chosen Option : 2

Comprehension:

frefafed maier @1 ufey 3R =1 oAt & 3w dfSwl

ST b BT TRFRT 6 IS B &g ST 8| TR’ ST IS IIAT HIA STl 2] T§ T 31elt HTeT
H I HeThTed & ST el Bedd o] SHPBT Hd I YR’ 3| 37T s I 1 5H HelbTed Bl
HieRTeTel T IC-aTI g Y BRI 8| 37 ITAR TaITad bl BIAHRT B HaH Tile 3R TG T 3
P ATferes AR SRR TR A a1 favad T8l 3| O @i doi WRalds a1 Bl JreFAT ared | 38
I b TP H T TRART & 3¥JcT IR2ATE Y YT Y 8, 5T gAY B &1y foet) bl TEF R
JoT 21| a8 Igd IR TG 11| 3TH YA BT HTaHT 9§d Tad 1 & BRUT 381 UH BT $2a7 BT UR 7|
3B Afdres WH-TTTR3N b BUS GRT GHITEIT UH Y [TEAT Y & TaITad Bl UF el S gedRTeT I/ |
IR T8 & 313 o1 § ot 7€ €, I8 St Y v=nad ¥ geda: U el 8] Enad ¥ e it 8 3R
BUR F GRT Acldep dcdl T FoHT WY 8| TE IXT HETHY Teb ‘BUD’ eI W HIFT SITdT 8| STt
R Wi & guiaar aRfad | & agd -0 & 1 37 PTed H WRAH cR-aT31l 3R uifife
TRARTAT BT 3eeie g3TT 8| 3TH T BT 37T A 3778 € 31R 3TRAT I Wi 37d a 39T et 3R
HTT o UedT 8| “UITad’ U bl TR Bl &1 R dTelT FeHTedh Bied & | ST 4 5 WHebelT Bl
Tga & g3 3 BaT3il &b a-a g 8

SubQuestion No : 40

Q.40 3yrETf aw ¥ U=IEd i T 3T & 32

Ans

X 1. BUR’ HEThTg

X 2. YeTad Ueb HEUY

X 3. ISqH HETHRIA

o 4. MIRIBTe BT dg-arer

Question ID : 1034353842

Status : Answered

Chosen Option : 4

Section : General Awareness & Current Affairs




Q.1 Which one of the following is NOT one of the twelve verticals of Khelo India
Programme?

Ans X 1. Talent Search and Development
< 2. Annual Sports Competitions
< 3. Sports for Women

«” 4. District Level Khelo India Centres

Question ID : 1034353859
Status : Not Answered
Chosen Option : --

Q.2 In September 2020, a comprehensive initiative called ‘PM e-Vidya’ was initiated by the
Indian government which:

Ans X 1. provides free education to all SC & ST boys and girls up to class 10th

" 2. unifies all efforts related to digital/online/on-air education, to enable multi-mode
access to education

< 3. integrates all online education platforms of different states

< 4. encourages corporate sector to sponsor schools

Question ID : 1034353858
Status : Answered
Chosen Option : 2

Q.3 Which of the following river basin areas in India is second in size only to the Ganga
river basin?

Ans X 1.Kaveri
X 2. Krishna
" 3. Godavari
X 4. Tapti

Question ID : 1034353849
Status : Not Answered
Chosen Option : --

Q.4 Under the GST law, CGST, SGST and IGST are collected from the buyer, depending
upon whether the transaction is intrastate or interstate. In this law, SGST stands for:

Ans X 1. Seller's Goods and Services Tax
25 2. Supply Goods and Services Tax
«# 3. State Goods and Services Tax

25 4. Sovereign Goods and Services Tax

Question ID : 1034353847
Status : Answered
Chosen Option : 3

Q.5 Nagara, Dravida and Vesara styles of architecture, which evolved during the medieval
period in India, were associated with

Ans X 1. Town Planning
o 2. Temples
< 3. Palaces
5 4. Forts

Question ID : 1034353850
Status : Answered
Chosen Option : 2




Q.6 Which of the following is one of the most popular folk dances of Haryana?
Ans X 1.Kaskar

«" 2. Dhamyal
< 3. Dumhal
25 4. Karma

Question ID : 1034353854
Status : Not Answered
Chosen Option : --

Q.7 Which option is true about the following two Sammans and award of Madhya Pradesh
government?
i.Ahilya samman aims to promote tribal and folk women artistes, who have done
commendable work in their respective fields.
ii.Tulsi award is given to those male folk and tribal artistes, whose work has been
recognised for its superior quality.

Ans & 1. Bothiandii are correct
< 2. Only ii is correct
< 3. Neither i nor ii is correct

< 4.0nlyiis correct

Question ID : 1034353855
Status : Answered
Chosen Option : 4

Q.8 Birhor tribes live in small settlements called at the edge of the forests.
Ans X 1. Wadi

25 2. Khunt
< 3. Thakarwadi

" 4. Tanda
Question ID : 1034353848
Status : Not Answered
Chosen Option : ==
Q.9 Iron is mixed with to make stainless steel.

Ans X 1.Copper and Silver
/< 2. Copper and Zinc
< 3. Copper and Tin
" 4. Nickel and Chromium

Question ID : 1034353852
Status : Answered
Chosen Option : 2

Q.10 As per the Quinquennial Survey 2014-18 figures, which of the following states of India
has minimum life expectancy at birth?

Ans X 1.Rajasthan
«" 2. Chhattisgarh
< 3. Assam
< 4. Uttar Pradesh

Question ID : 1034353851
Status : Not Answered
Chosen Option : --




Q.11 Which of the following subjects is NOT included in the Union List, as per allocation
between three lists in seventh schedule, given under Article 246 of the Indian
Constitution?

Ans X 1. Atomic Energy
< 2. Railways

< 3. Banking

«" 4. Liquor

Question ID : 1034353856
Status : Answered
Chosen Option : 4

Q.12 Which of the following is NOT one of the main pillars of the Namami Gange
Programme?

Ans X 1. Afforestation
«" 2. Promotion of Boating
< 3. River-Front Development

/< 4. Sewerage Treatment Infrastructure

Question ID : 1034353857
Status : Answered
Chosen Option : 2

Q.13 Which of the following organisations in India was the first to develop Omicron-
detecting RT-PCR kits, in partnership with the Indian Council of Medical Research

(ICMR)?
Ans  * 1. Tata Medical and Diagnostics Limited (TATA MD)

25 2. Serum Institute of India
< 3. Aurobindo Pharma

< 4. Bharat Biotech

Question ID : 1034353846
Status : Answered
Chosen Option : 1

Q.14 Which of the following comprises a group of related species, which has more
characters in common in comparison to species of other genera?

Ans  # 1. Genus
25 2. Family
25 3. Order
X 4. Class

Question ID : 1034353853
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given passage and answer the following questions.

While evolving the most balanced governmental arrangements, the makers of the Indian
Constitution did not hesitate to learn from experiments and experiences of other countries.
Thus, the framers of the Indian Constitution were not averse to borrowing from other
constitutional traditions. Indeed, it is a testament to their wide learning that they could lay their
hands upon any intellectual argument, or historical example that was necessary for fulfilling
the task at hand. So, they borrowed a number of provisions from different countries while
framing the Indian Constitution.

SubQuestion No : 15

Q.15 From which of the following constitutions was the provision of ‘Residual Powers’
adopted in the Indian Constitution?

Ans X 1.French
" 2. Canadian

25 3.1Irish
< 4. British

Question ID : 1034353862
Status : Answered

Chosen Option : 2

Comprehension:
Read the given passage and answer the following questions.

While evolving the most balanced governmental arrangements, the makers of the Indian
Constitution did not hesitate to learn from experiments and experiences of other countries.
Thus, the framers of the Indian Constitution were not averse to borrowing from other
constitutional traditions. Indeed, it is a testament to their wide learning that they could lay their
hands upon any intellectual argument, or historical example that was necessary for fulfilling
the task at hand. So, they borrowed a number of provisions from different countries while
framing the Indian Constitution.

SubQuestion No : 16

Q.16 From which of the following constitutions was the concept of ‘Fundamental Rights’
adopted in the Indian Constitution?

Ans  # 1. United States
< 2. 1rish
< 3. British
75 4. French

Question ID : 1034353861
Status : Answered
Chosen Option : 1




Comprehension:
Read the given passage and answer the following questions.

While evolving the most balanced governmental arrangements, the makers of the Indian
Constitution did not hesitate to learn from experiments and experiences of other countries.
Thus, the framers of the Indian Constitution were not averse to borrowing from other
constitutional traditions. Indeed, it is a testament to their wide learning that they could lay their
hands upon any intellectual argument, or historical example that was necessary for fulfilling
the task at hand. So, they borrowed a number of provisions from different countries while
framing the Indian Constitution.

SubQuestion No : 17

Q.17 From which of the following constitutions the ‘Principles of Liberty, Equality and
Fraternity‘ were adopted in the Indian Constitution?

Ans X 1. United States
5 2. Canadian
25 3. British
«" 4. French

Question ID : 1034353863
Status : Not Answered
Chosen Option : --

Comprehension:
On the basis of the following passage, answer the following questions by selecting the correct
answer from the given options.

To fight the British, leadership and organisation were required. For these the rebels
sometimes turned to those who had been leaders before the British conquest. One of the first
acts of the sepoys of Meerut, as we saw, was to rush to Delhi and appeal to the old Mughal
emperor to accept the leadership of the revolt. This acceptance of leadership took its time in
coming.

SubQuestion No : 18

Q.18 In which of the following years did rebels revolted on a mass scale against the British
rule in India?

Ans  # 1.1857
X 2.1757

23,1911
X 4.1900

Question ID : 1034353865
Status : Answered
Chosen Option : 1

Comprehension:
On the basis of the following passage, answer the following questions by selecting the correct
answer from the given options.

To fight the British, leadership and organisation were required. For these the rebels
sometimes turned to those who had been leaders before the British conquest. One of the first
acts of the sepoys of Meerut, as we saw, was to rush to Delhi and appeal to the old Mughal
emperor to accept the leadership of the revolt. This acceptance of leadership took its time in
coming.

SubQuestion No : 19

Q.19 During the First War of Independence against the British rule in India, which of the
following Mughal Emperor was declared as the leader of the revolt?

Ans X 1. Wajid Ali Shah
< 2. Akbar Shah II
< 3. Shah Alam Il
" 4. Bahadur Shah Il

Question ID : 1034353867
Status : Answered
Ch




Comprehension:
On the basis of the following passage, answer the following questions by selecting the correct
answer from the given options.

To fight the British, leadership and organisation were required. For these the rebels
sometimes turned to those who had been leaders before the British conquest. One of the first
acts of the sepoys of Meerut, as we saw, was to rush to Delhi and appeal to the old Mughal
emperor to accept the leadership of the revolt. This acceptance of leadership took its time in
coming.
SubQuestion No : 20

Q.20 The First War of Independence against the British rule in India began in

Ans X 1. Lucknow
< 2. Kanpur
«" 3. Meerut
X 4. Delhi

Question ID : 1034353866
Status : Answered
Chosen Option : 3

Section : Basic Knowledge of Computer Operation

Q.1 Which of the following refers to the characteristic of a computer that can perform
tasks without manual intervention?

Ans X 1. Versatility
¥ 2. Automation
25 3. Diligence
< 4. Reliability

Question ID : 1034353869
Status : Answered
Chosen Option : 2

Q.2 Which of the following information kiosks are used in the hospitality industry?
Ans " 1. Kiosks that present services or nearby attractions to their guests.
< 2. Kiosks that provide services such as the DMV or that help with scheduling needs and
for tracking packages.

75 3. Kiosks that assist with patient check-in, to track patient health records and in other
cases, to handle payments.

< 4. Kiosks that are used for scheduling, way finding and for cataloguing pertinent
information such as school transfers or application assistance.

Question ID : 1034353896
Status : Answered
Chosen Option : 3

Q.3 Which of the following is NOT a valid feature of MS-Excel 2019?
Ans X 1.Format Painter

«" 2. Mail Merge
/< 3. Merge and Centre
75 4. Wrap Text

Question ID : 1034353884
Status : Answered
Chosen Option : 4




Q.4 With reference to a file system, what is the full form of HFS?
Ans X 1.Host File System

< 2. Higher File System
< 3. High File System
" 4. Hierarchical File System

Question ID : 1034353875
Status : Answered
Chosen Option : 4

Q.5 ROM belongs to which category of computer memory?
Ans X 1.Register memory

#5 2. Cache memory
" 3. Primary memory
< 4. Secondary memory

Question ID : 1034353873
Status : Answered
Chosen Option : 3

Q.6 Which of the following services of an operating system deals with allocation of
requirements such as main memory, CPU cycles and files storage to each user or job
in a multi-user or multi-tasking environment?

Ans X 1.1/O operation
< 2. Communication
«” 3. Resource management

2% 4. File system manipulation

Question ID : 1034353880
Status : Answered
Chosen Option : 3

Q.7 Which of the following commands is represented by the symbol of ‘curved arrow
pointing to the left’ in MS-Word 2019?

Ans X 1.Cut
< 2. Spellcheck
25 3. Redo
«” 4. Undo

Question ID : 1034353883
Status : Answered
Chosen Option : 4

Q.8 Which of the following is true with reference to information kiosks?
Ans X 1. Aninformation kiosk is essentially a non-interactive kiosk.

25 2. Information kiosks are not cost effective.

¥ 3. Examples of information kiosks would be those available at a local library, providing
an active catalogue of inventory.

< 4. Information kiosks can only be placed indoor.

Question ID : 1034353897
Status : Answered
Chosen Option : 1




Q.9 Which of the following statements is/are true with reference to MS-PowerPoint 2019?
(i) A Theme gives your slides a consistent appearance throughout your presentation.
(ii) Theme group is available in the Home tab.

Ans 1. 0nly (i)

X 2. Only (i)

X 3. Both (i) and (ii)
25 4. Neither (i) nor (ii)

Question ID : 1034353886
Status : Answered
Chosen Option : 1

Q.10 Which of the following is true with reference to RAM memory in a computer system?

Ans X 1.RAM is a secondary memory of a computer system.

5 2. RAM is a non-volatile memory.

" 3. RAM stores the information which the computer is actively using so that it can be
accessed quickly.
25 4. RAM is computer system long-term data storage.

Question ID : 1034353870
Status : Answered
Chosen Option : 3

Q.11 Which of the following software is stored on a computer’s motherboard or chipset?
Ans  # 1. Firmware

< 2. Programming

< 3. Application

25 4. Antivirus

Question ID : 1034353878
Status : Answered
Chosen Option : 1

Q.12 Which of the following features of MS-Word 2019 lets us create a batch of documents
that are personalised for each recipient?

Ans 1. Mail Merge
< 2. Drop Cap

/< 3. Format Painter
75 4. Smart Lookup

Question ID : 1034353882
Status : Answered
Chosen Option : 1

Q.13 With reference to the Information Technology Act, 2000, which of the following refers
to Cyber Security?

Ans X 1.An Electronic Signature Certificate issued under Section 35 and includes Digital
Signature Certificate.

g{ 2. Protecting information, equipment, devices, computer, computer resource,
communication device and information stored therein from unauthorised access, use,
disclosure, disruption, modification, or destruction.

< 3. Official Gazette published in the electronic form.

< 4. Authentication of any electronic record by a subscriber by means of the electronic
technique specified in the Second Schedule and includes digital signature.

Question ID : 1034353889
Status : Answered
Chosen Option : 2




Q.14 Which chapter of the Information Technology Act, 2000, deals with Suspension and
Revocation of Digital Signature Certificate?

Ans 4 1. Chapter VII
25 2. Chapter VI
< 3. Chapter |
25 4. Chapter Il

Question ID : 1034353891
Status : Answered
Chosen Option : 4

Q.15 Which of the following input devices of a computer system works more like a
photocopy machine?

Ans X 1. Light pen
25 2. Digitizer

25 3. Track ball
# 4. Scanner

Question ID : 1034353877
Status : Answered
Chosen Option : 4

Q.16 Entrance, Emphasis, Exit, etc., are groups of which tab of MS-PowerPoint 2019?
Ans  # 1. Animations

< 2. Transitions

25 3. View

25 4. Design

Question ID : 1034353887
Status : Answered
Chosen Option : 2

Q.17 With reference to e-Governance, the use of IT to facilitate the ability of all sections of
society to participate in the governance of the state refers to:

Ans X 1.e-Banking
< 2. e-Administration
< 3. e-Services
" 4. e-Democracy

Question ID : 1034353893
Status : Answered
Chosen Option : 4

Q.18 Which of the following is authentication of any electronic record by a subscriber by
means of an electronic method or procedure in accordance with the provisions of
Section 3 according to the Information technology Act, 2000?

Ans X 1. Electronic circuit
«# 2. Digital signature
< 3. Electronic Gazette

< 4. Electronic form

Question ID : 1034353890
Status : Answered
Chosen Option : 2




Q.19 Which of the following is a modern GUI based Operating System for desktop
environments?

Ans X 1.Android OS
" 2. Microsoft Windows
25 3. Symbian OS
25 4. Apple’s iOS

Question ID : 1034353881
Status : Answered
Chosen Option : 1

Q.20 Which of the following operating systems is used by Nokia smartphone?
Ans X 1.i0S

«" 2. Symbian OS
< 3. Android
< 4.Bada

Question ID : 1034353895
Status : Answered
Chosen Option : 2

Q.21 Which of the following is a self-sustainable e-Governance project for the computerised
delivery of 20 million rural land records to 6.7 million farmers of Karnataka under e-
Governance initiative in India?

Ans X 1.e-Courts
5 2. KHAJANE
& 3. BHOOMI
< 4. e-Seva

Question ID : 1034353892
Status : Not Answered
Chosen Option : --

Q.22 Which of the following is a process that manages how and where data on a storage
disk, typically a hard disk drive (HDD), is stored, accessed, and managed?

Ans X 1. Disk scheduling system
25 2. Process management system
«# 3. File system

< 4. Input/output system

Question ID : 1034353874
Status : Answered
Chosen Option : 1

Q.23 Which of the following refers to any facility from where access to the Internet is
offered by any person in the ordinary course of business to the members of the public,
according to the Information Technology Act, 2000?

Ans X 1. Electronic Gazette
«" 2. Cyber Cafe
< 3. Digital Security
25 4. Cyber Security

Question ID : 1034353888
Status : Answered
Chosen Option : 2




Q.24 What is the full form of MROM?
Ans X 1. Multilayer Read Only Memory

/< 2. Managed Read Only Memory
¥ 3. Masked Read Only Memory
< 4. Main Read Only Memory

Question ID : 1034353872
Status : Answered
Chosen Option : 3

Q.25 Which of the following is a valid absolute address of a cell at the intersection of the
second row and seventh column in an MS-Excel worksheet?

Ans # 1.5GS2
< 2.3G2$
X 3. @G2@
< 4. $2%H

Question ID : 1034353885
Status : Answered
Chosen Option : 1

Q.26 Spacebar on a computer keyboard belongs to which of the following categories?
Ans X 1. Control keys

< 2. Function keys
" 3. Special purpose keys
< 4. Typing keys

Question ID : 1034353876
Status : Answered
Chosen Option : 3

Q.27 With reference to the characteristics of computers, match the following.
(i) Diligence (a) Consistent results
(ii) Reliability (b) Different kinds of works
(iii) Versatility (c) Millions of tasks or calculations

Ans X 1. (i)(a), (ii)-(c), (ii)-(b)
X 2.()-(b), (ii)-(a). (iii)-(c)
X 3. ()-(c), (ii)-(b), (iii)-(a)
o 4. ()-(c), (ii)-(a), (iii)-(b)

Question ID : 1034353868
Status : Answered
Chosen Option : 4

Q.28 Which of the following is an example of application software?
Ans X 1. Microsoft Windows

o 2. Zoom
< 3. MacOS
5 4. Linux

Question ID : 1034353879
Status : Answered
Chosen Option : 2




Q.29 Match the following mobile/smart phone operating systems with their manufacturers?
(i) iOS (a) Samsung
(ii) Android (b) Google Inc.
(iii) BADA (c) Apple

Ans X 1. (i)-(c), (ii)-(a), (iii)-(b)
X 2. (i)y-(a). (ii)-(c), (iii)-(b)
w# 3. (i)-(c), (ii)-(b), (iii)-(a)
X 4. (i)y-(b). (ii)-(a), (iii)-(c)

Question ID : 1034353894
Status : Answered
Chosen Option : 3

Q.30 Which of the following is FALSE with reference to static RAM in comparison with
dynamic RAM?

Ans 4 1. Smaller in size
< 2. Expensive
< 3. Faster
5 4. Long life

Question ID : 1034353871
Status : Answered
Chosen Option : 4

Comprehension:
Read the given passage and answer the questions that follow.

Memory is the most essential element of a computing system. Computer memory is of two
basic types — Primary memory (RAM and ROM) and Secondary memory (hard drive, CD,
etc.). Random Access Memory (RAM) is primary-volatile memory and Read-Only Memory
(ROM) is primary-non-volatile memory.

RAM is also called read-write memory or the main memory or the primary memory. The
programs and data that the CPU requires during the execution of a program are stored in this
memory. It is a volatile memory as the data is lost when the power is turned off. RAM is
further classified into two types — SRAM (Static Random Access Memory) and DRAM
(Dynamic Random Access Memory). The characteristics of DRAM are: inexpensive, slower
than SRAM, uses less power, generates less heat, used in the main memory, requires
recharge. The characteristics of SRAM are: expensive, faster than DRAM, uses more power,
generates more heat, used for cache, holds content if power is available.

Read-Only Memory (ROM) stores crucial information essential to operate the system, like the
program essential to boot the computer. It is not volatile. Always retains its data. Used in
embedded systems or where the programming needs no change. Used in calculators and
peripheral devices. ROM is further classified into four types — MROM, PROM, EPROM, and
EEPROM.

SubQuestion No : 31
Q.31 Which of the following is NOT a valid type of ROM?
Ans X 1. EEPROM

«" 2. MNROM
< 3. EPROM
< 4. MROM

Question ID : 1034353900
Status : Answered
Chosen Option : 2




Comprehension:
Read the given passage and answer the questions that follow.

Memory is the most essential element of a computing system. Computer memory is of two
basic types — Primary memory (RAM and ROM) and Secondary memory (hard drive, CD,
etc.). Random Access Memory (RAM) is primary-volatile memory and Read-Only Memory
(ROM) is primary-non-volatile memory.

RAM is also called read-write memory or the main memory or the primary memory. The
programs and data that the CPU requires during the execution of a program are stored in this
memory. It is a volatile memory as the data is lost when the power is turned off. RAM is
further classified into two types — SRAM (Static Random Access Memory) and DRAM
(Dynamic Random Access Memory). The characteristics of DRAM are: inexpensive, slower
than SRAM, uses less power, generates less heat, used in the main memory, requires
recharge. The characteristics of SRAM are: expensive, faster than DRAM, uses more power,
generates more heat, used for cache, holds content if power is available.

Read-Only Memory (ROM) stores crucial information essential to operate the system, like the
program essential to boot the computer. It is not volatile. Always retains its data. Used in
embedded systems or where the programming needs no change. Used in calculators and
peripheral devices. ROM is further classified into four types - MROM, PROM, EPROM, and
EEPROM.

SubQuestion No : 32
Q.32 Which of the following is FALSE?
Ans # 1. DRAM is used as permanent storage.

< 2. SRAM is more expensive than DRAM.
< 3.SRAM is used as temporary storage.

5 4. Currently executing instructions are stored in RAM.

Question ID : 1034353903
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

Memory is the most essential element of a computing system. Computer memory is of two
basic types — Primary memory (RAM and ROM) and Secondary memory (hard drive, CD,
etc.). Random Access Memory (RAM) is primary-volatile memory and Read-Only Memory
(ROM) is primary-non-volatile memory.

RAM is also called read-write memory or the main memory or the primary memory. The
programs and data that the CPU requires during the execution of a program are stored in this
memory. It is a volatile memory as the data is lost when the power is turned off. RAM is
further classified into two types — SRAM (Static Random Access Memory) and DRAM
(Dynamic Random Access Memory). The characteristics of DRAM are: inexpensive, slower
than SRAM, uses less power, generates less heat, used in the main memory, requires
recharge. The characteristics of SRAM are: expensive, faster than DRAM, uses more power,
generates more heat, used for cache, holds content if power is available.

Read-Only Memory (ROM) stores crucial information essential to operate the system, like the
program essential to boot the computer. It is not volatile. Always retains its data. Used in
embedded systems or where the programming needs no change. Used in calculators and
peripheral devices. ROM is further classified into four types — MROM, PROM, EPROM, and
EEPROM.

SubQuestion No : 33

Q.33 Which of the following memories is used to store the startup program of a computer
system?

Ans X 1.DRAM
X 2. SRAM
25 3. Hard disk
o 4. ROM

Question ID : 1034353902
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

Memory is the most essential element of a computing system. Computer memory is of two
basic types — Primary memory (RAM and ROM) and Secondary memory (hard drive, CD,
etc.). Random Access Memory (RAM) is primary-volatile memory and Read-Only Memory
(ROM) is primary-non-volatile memory.

RAM is also called read-write memory or the main memory or the primary memory. The
programs and data that the CPU requires during the execution of a program are stored in this
memory. It is a volatile memory as the data is lost when the power is turned off. RAM is
further classified into two types — SRAM (Static Random Access Memory) and DRAM
(Dynamic Random Access Memory). The characteristics of DRAM are: inexpensive, slower
than SRAM, uses less power, generates less heat, used in the main memory, requires
recharge. The characteristics of SRAM are: expensive, faster than DRAM, uses more power,
generates more heat, used for cache, holds content if power is available.

Read-Only Memory (ROM) stores crucial information essential to operate the system, like the
program essential to boot the computer. It is not volatile. Always retains its data. Used in
embedded systems or where the programming needs no change. Used in calculators and
peripheral devices. ROM is further classified into four types — MROM, PROM, EPROM, and
EEPROM.

SubQuestion No : 34

Q.34 Which of the following statements is/are true?
(i) Hard disk is considered as primary memory.
(ii)) ROM is a permanent storage.

Ans X 1. Neither (i) nor (ii)
2 2. Only (i)
& 3. 0nly (i)
7< 4. Both (i) and (i)

Question ID : 1034353899
Status : Answered
Chosen Option : 1

Comprehension:
Read the given passage and answer the questions that follow.

Memory is the most essential element of a computing system. Computer memory is of two
basic types — Primary memory (RAM and ROM) and Secondary memory (hard drive, CD,
etc.). Random Access Memory (RAM) is primary-volatile memory and Read-Only Memory
(ROM) is primary-non-volatile memory.

RAM is also called read-write memory or the main memory or the primary memory. The
programs and data that the CPU requires during the execution of a program are stored in this
memory. It is a volatile memory as the data is lost when the power is turned off. RAM is
further classified into two types — SRAM (Static Random Access Memory) and DRAM
(Dynamic Random Access Memory). The characteristics of DRAM are: inexpensive, slower
than SRAM, uses less power, generates less heat, used in the main memory, requires
recharge. The characteristics of SRAM are: expensive, faster than DRAM, uses more power,
generates more heat, used for cache, holds content if power is available.

Read-Only Memory (ROM) stores crucial information essential to operate the system, like the
program essential to boot the computer. It is not volatile. Always retains its data. Used in
embedded systems or where the programming needs no change. Used in calculators and
peripheral devices. ROM is further classified into four types — MROM, PROM, EPROM, and
EEPROM.

SubQuestion No : 35
Q.35 Which of the following types of memories is used for manufacturing cache memory?
Ans X 1.DRAM

X 2. EPROM
« 3. SRAM
X 4. PROM

Question ID : 1034353901
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

Hardware refers to the physical components of a computer. Computer hardware is any part of
the computer that can be touched. These are the primary electronic devices used to build a
computer. Examples of hardware in a computer are the Processor, Memory Devices, Monitor,
Printer, Keyboard, Mouse, and the Central Processing Unit (CPU).

Software is a collection of instructions, procedures, documentation that perform different tasks
on a computer system. We can also say that computer software is a programming code
executed on a computer processor. The code can be machine-level code, or the code written
for an operating system. Examples of software are MS-Word, MS-Excel, MS-Power Point,
Google Chrome, Photoshop, MySQL, etc.

Differences between software and hardware:

Software is a set of instructions that tells a computer exactly what to do. It is developed and
engineered. Software cannot be executed without hardware. We can see and use the
software but cannot touch them. It is mainly divided into system software, programming
software and application software. Application software is one of the types of software which
runs or executes as per user request. High-level languages such as Java, C, C++, etc. are
used to develop the application software. Application software is a specific purpose software
which is intended to perform some tasks grouped together. Without an operating system,
application software cannot be installed. Software is affected by computer viruses. If software
is damaged, its backup copy can be reinstalled.

Hardware is manufactured. Hardware cannot perform any task without software. It has four
main categories: input devices, output devices, storage, and internal components. Hardware
is not affected by computer viruses. If hardware is damaged, it is replaced with a new one.

SubQuestion No : 36
Q.36 Which of the following statement is FALSE?
Ans X 1. CPU is an example of a hardware device.

< 2. Hardware components are not affected by infective programs.
< 3. Memory devices are type of hardware devices.

«” 4. Hardware and software can operate independent of each other.

Question ID : 1034353906
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

Hardware refers to the physical components of a computer. Computer hardware is any part of
the computer that can be touched. These are the primary electronic devices used to build a
computer. Examples of hardware in a computer are the Processor, Memory Devices, Monitor,
Printer, Keyboard, Mouse, and the Central Processing Unit (CPU).

Software is a collection of instructions, procedures, documentation that perform different tasks
on a computer system. We can also say that computer software is a programming code
executed on a computer processor. The code can be machine-level code, or the code written
for an operating system. Examples of software are MS-Word, MS-Excel, MS-Power Point,
Google Chrome, Photoshop, MySQL, etc.

Differences between software and hardware:

Software is a set of instructions that tells a computer exactly what to do. It is developed and
engineered. Software cannot be executed without hardware. We can see and use the
software but cannot touch them. It is mainly divided into system software, programming
software and application software. Application software is one of the types of software which
runs or executes as per user request. High-level languages such as Java, C, C++, etc. are
used to develop the application software. Application software is a specific purpose software
which is intended to perform some tasks grouped together. Without an operating system,
application software cannot be installed. Software is affected by computer viruses. If software
is damaged, its backup copy can be reinstalled.

Hardware is manufactured. Hardware cannot perform any task without software. It has four
main categories: input devices, output devices, storage, and internal components. Hardware
is not affected by computer viruses. If hardware is damaged, it is replaced with a new one.

SubQuestion No : 37

Q.37 Which of the following statements is/are true?
(i) Hardware refers to logical components of a computer system.
(ii) Google Chrome is an example of computer hardware.

Ans X 1.Both (i) and (ii)
2 2. Only (i)
2 3. Only (ii)
& 4. Neither (i) nor (ii)

Question ID : 1034353905
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

Hardware refers to the physical components of a computer. Computer hardware is any part of
the computer that can be touched. These are the primary electronic devices used to build a
computer. Examples of hardware in a computer are the Processor, Memory Devices, Monitor,
Printer, Keyboard, Mouse, and the Central Processing Unit (CPU).

Software is a collection of instructions, procedures, documentation that perform different tasks
on a computer system. We can also say that computer software is a programming code
executed on a computer processor. The code can be machine-level code, or the code written
for an operating system. Examples of software are MS-Word, MS-Excel, MS-Power Point,
Google Chrome, Photoshop, MySQL, etc.

Differences between software and hardware:

Software is a set of instructions that tells a computer exactly what to do. It is developed and
engineered. Software cannot be executed without hardware. We can see and use the
software but cannot touch them. It is mainly divided into system software, programming
software and application software. Application software is one of the types of software which
runs or executes as per user request. High-level languages such as Java, C, C++, etc. are
used to develop the application software. Application software is a specific purpose software
which is intended to perform some tasks grouped together. Without an operating system,
application software cannot be installed. Software is affected by computer viruses. If software
is damaged, its backup copy can be reinstalled.

Hardware is manufactured. Hardware cannot perform any task without software. It has four
main categories: input devices, output devices, storage, and internal components. Hardware
is not affected by computer viruses. If hardware is damaged, it is replaced with a new one.

SubQuestion No : 38
Q.38 Which of the following is required to install applications in a computer system?
Ans X 1. Computer virus

< 2. Printer
" 3. Operating system

X 4. High-level language

Question ID : 1034353907
Status : Answered
Chosen Option : 3




Comprehension:
Read the given passage and answer the questions that follow.

Hardware refers to the physical components of a computer. Computer hardware is any part of
the computer that can be touched. These are the primary electronic devices used to build a
computer. Examples of hardware in a computer are the Processor, Memory Devices, Monitor,
Printer, Keyboard, Mouse, and the Central Processing Unit (CPU).

Software is a collection of instructions, procedures, documentation that perform different tasks
on a computer system. We can also say that computer software is a programming code
executed on a computer processor. The code can be machine-level code, or the code written
for an operating system. Examples of software are MS-Word, MS-Excel, MS-Power Point,
Google Chrome, Photoshop, MySQL, etc.

Differences between software and hardware:

Software is a set of instructions that tells a computer exactly what to do. It is developed and
engineered. Software cannot be executed without hardware. We can see and use the
software but cannot touch them. It is mainly divided into system software, programming
software and application software. Application software is one of the types of software which
runs or executes as per user request. High-level languages such as Java, C, C++, etc. are
used to develop the application software. Application software is a specific purpose software
which is intended to perform some tasks grouped together. Without an operating system,
application software cannot be installed. Software is affected by computer viruses. If software
is damaged, its backup copy can be reinstalled.

Hardware is manufactured. Hardware cannot perform any task without software. It has four
main categories: input devices, output devices, storage, and internal components. Hardware
is not affected by computer viruses. If hardware is damaged, it is replaced with a new one.

SubQuestion No : 39
Q.39 Which of the following is NOT a high-level language?
Ans X 1.Java

x2cC
X 3.C++

" 4. Machine code

Question ID : 1034353908
Status : Answered
Chosen Option : 4




Comprehension:
Read the given passage and answer the questions that follow.

Hardware refers to the physical components of a computer. Computer hardware is any part of
the computer that can be touched. These are the primary electronic devices used to build a
computer. Examples of hardware in a computer are the Processor, Memory Devices, Monitor,
Printer, Keyboard, Mouse, and the Central Processing Unit (CPU).

Software is a collection of instructions, procedures, documentation that perform different tasks
on a computer system. We can also say that computer software is a programming code
executed on a computer processor. The code can be machine-level code, or the code written
for an operating system. Examples of software are MS-Word, MS-Excel, MS-Power Point,
Google Chrome, Photoshop, MySQL, etc.

Differences between software and hardware:

Software is a set of instructions that tells a computer exactly what to do. It is developed and
engineered. Software cannot be executed without hardware. We can see and use the
software but cannot touch them. It is mainly divided into system software, programming
software and application software. Application software is one of the types of software which
runs or executes as per user request. High-level languages such as Java, C, C++, etc. are
used to develop the application software. Application software is a specific purpose software
which is intended to perform some tasks grouped together. Without an operating system,
application software cannot be installed. Software is affected by computer viruses. If software
is damaged, its backup copy can be reinstalled.

Hardware is manufactured. Hardware cannot perform any task without software. It has four
main categories: input devices, output devices, storage, and internal components. Hardware
is not affected by computer viruses. If hardware is damaged, it is replaced with a new one.

SubQuestion No : 40
Q.40 Which of the following is developed and engineered but NOT manufactured?
Ans X 1.CPU

« 2. MysaL
< 3. Memory device
/< 4. Printer

Question ID : 1034353909
Status : Answered
Chosen Option : 2
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